
Full Marks : 40

Paper : DSE 3-T

lcBCsI

The .figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

[Green Chemisty]

Group - A

Answer any fi.ve questions : 2x5=10

1. What is trans-fat?

2. What are the criteria of Right fit pigments?

3. Why dyes and pigments are called 'colorants'?

4.

5.

6.

7.

8.

(rsDx

v-6/18 - 1300

Mention disadvantages of TBTO as antifoulant.

What are bioplastics? Give an example.

Give one example of solvent &ee reaction

What do you understand by inherently safer design
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